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1. TlepeyeHb KOMIIETEHIM i, KOTOPBLIMH J0JI’KHBI OBJIaeTh 00y4aloluecsi B
pe3yJibTaTe 0CBOeHHUsI 00pa30BaTeIbHOM NPOrPaMMBbI

Koa u HamMeHOBaHHEe KOMIIETEHIIMH 9Tanbl Q)opan()BaHnﬂ

CIIK-1 1.PaboTa Ha y4eOHBIX 3aHATHUSAX.
BIIQJICET CHCTEMOH JIMHTBUCTHYECKUX 3HAHWM, BKItouaromieil B | 2.CaMocTsoTenpHas padora.
ceO0s 3HAHME OCHOBHBIX (DOHETHYECKHMX, JICKCUYECCKUX,

rpaMMaTHYeCKHX,  CIIOBOOOpPA3OBaTENbHBIX  SBICHUH |

3aKOHOMEPHOCTEH (bYHKIIMOHUPOBAHUS M3y4aeMoro

WHOCTPAHHOTO SI3bIKA, €ro ()YHKIIMOHATBHBIX Pa3HOBUTHOCTEH

CIIK-6 1.PaboTa Ha yueOHBIX 3aHATHUSAX.

CIIOCOOEH OIIEHHUTh KAa4yecTBO HcCcienoBaHMs B gaHHOM | 2.CamocTosiTenbHas padora.
IpPEeIMETHOM 00JacTH, COOTHECTH HOBYIO MH(OPMALIUIO C YXKe
UMEIOLIEICS, JIOTMYHO M  TOCJEN0BAaTEeIbHO IMPEICTABUTH
pe3yabTaThl COOCTBEHHOT'O UCCIIEOBAHUS

CIIK-8 1.PaboTa Ha y4eOHBIX 3aHATHUSX.
BIIaJIcET OCHOBaMHM COBpeMeHHOW wuH(opmanuoHHOW U | 2.CaMocTsioTenbHas padora.
oubmmorpaduueckoil  KyJmbTyphbl, crmocoOeH paboTath C
AJIEKTPOHHBIMU ~ CJIOBapsIMA W JAPYTUMH  DJICKTPOHHBIMH
pecypcamu [T petieHus MpohecCHOHATBHBIX 3a1a4

2. Onucanue mokKa3aTejied OIEHMBAHHS KOMIETEHIHMH, a TaK:Ke IIKAJ
OLICHUBAHUS

2.1. Onucanue nokasare/ieil U KpUTEPHEB OLICHUBAHUS KOMIIETeHIUI

OuenuB | YpoBeHb Jran Onucanue nokasaresen Kputepun IIxana
aeMble copmupoBaH | popMupoBaHUs OIICHMBAHMS | OLIEHHBA
KOMIIeTe | HOCTH HMSA
HUIMH
CIIK-1 [Toporossrit 1.PaboTa Ha | 3HAeT: Texymuit 41-60
yueOHBIX - OCHOBHbIE (POHETHUYECKHE, | KOHTPOJIb: 6anioB
3aHATHSIX. JIEKCHYECKHE, YCTHBIN
2.CaMocTOSITeNTbHA | TPAMMATHYECKUE, o1poc Ha
st paboTa. CJI0BOOOPA30BaTEIIbHBIC 3aHATHUSAX;
SBJICHNS M 3aKOHOMEPHOCTH | BBIIIOJHEHHUE
(YHKIMOHUPOBAHUS TECTOBBIX
M3y4aeMoro WHOCTPAHHOTO | 3aaHuil
A3BIKA, ero
(YHKIMOHAIBHBIX 3a4eT c
pa3HOBUIHOCTEN OIIEHKOM
yMeeT:
- TPUMEHATH HOJy4YEeHHBIE
3HaHUSI O 3aKOHOMEPHOCTSIX
(GYHKIIMOHUPOBAHUS u
(YHKIMOHAIBHBIX
Pa3sHOBUAHOCTSIX
U3y4yaeMoro  s3plka  JUIs
peLeHus
npodecCHOHANBHBIX 3a1a4
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[ponsunyteiii | 1.Pabota Ha | BJIajIeeT: Texymuit 61-100
Y4IeOHBIX - CHUCTEMOH | KOHTPOJIb: OamioB
3aHATHSIX. JUHTBUCTUYECKUX  3HaHWM, | pedepaTsl,
2.CamMocTosiTeNnbHa | BKIIOYAIONIeH B ceOsl 3HAHUE | MTPE3CHTAIHY.
sl paborTa. OCHOBHBIX  (DOHETHYCCKHX,

JIEKCUYECKHX, 3a4er c

rpaMMaTHYECKHX, OLICHKO

CJII0BOOOPA30BaTEIIBHBIX

SIBIICHU u

3aKOHOMEPHOCTEN

(YHKIMOHUPOBAHUS

U3y4aeMOro HMHOCTPAHHOI'O

A3BIKA, ero

(YHKIMOHAIBHBIX

Pa3HOBHJIHOCTEMN

CIIK-6 IToporossrit 1.Pabota Ha | 3HAeT: Texymuit 41-60

yueOHBIX METO/I0JIOTHIO OLICHKH | KOHTPOJIb: 0amios
3aHSATHSIX. KayecTBa HAY4HOTO | YCTHBIH
2.CaMoCTOSITENIbHA | UCCIEN0BaHUA onpoc Ha
s pabora. yMeeT: 3aHATUSAX;

- OICHMBaTh  KaueCTBO | BHIMOJIHEHHE

UCCIICIOBAaHUSI B CBOEH | TECTOBBIX

MpeIMEeTHON 00IacTH, 3alaHui

- COOTHOCHTH HOBYIO

WHPOPMALIUIO c yKe | 3a4eT c

AMEIOIICHCS, OILICHKOH

- JIOTHYHO u

MOCJIEeI0BAaTENLHO

NPEACTABISATh  PEe3yJIbTaThl

cOoOCTBEHHOTO

UCCIIeIOBaHNUS

[ponsunyteiii | 1.Pabora Ha | BJajeeT: Texyuuit 61-100
y4eOHBIX - HaBblKAMM aHalu3a M | KOHTPOJb: 0auioB
3aHSTHSIX. NPEJICTABICHUS PE3YJIbTAaTOB | MPE3CHTAIHY,
2.CamocrosTenbHa | HAYYHBIX HCCIEOBaHUN B | Hay4yHBIE
s pabora. paMkax OTJENbHBIX | TOKJIAMBIL.

W3yYEHHBIX TUCLUIUIMH U Ha
CTBIKE HECKOJIBKHX | 3a4eT c
MPEeIMETHBIX 00JIACTEeH. OLIEHKOH
CIIK-8 [ToporoBsrii 1.Pabora Ha | 3HAeT: Texyrmmit 41-60
yueOHBIX - OCHOBBl  COBPEMEHHOH | KOHTPOJIb: 0asuioB
3aHATHSIX. MH(POPMAIMOHHON U | YCTHBIH
2.CamocrosTenbHa | Oubnrorpahuaeckoi ompoc Ha
s paboTa. KYJIETYPBI 3aHATHSIX
yMeeT:
- TPUMEHATH TOJyYEHHBIE | 3a4eT c
3HAHUSA o OCHOBAaM | OIICHKOH
MH(POPMALTMOHHON "
oubnuorpaduueckon
KyJIbTYpPBl  JUIS  PEHIeHHUs
UCCIIEIOBATENBbCKUX u

po(heCcCUOHAIBHBIX 33]1a4




[IponsunHyTHIN

Y4IeOHBIX
3aHATHUSAX.
2.CamMocTosTenbpHa
sl paborTa.

1.Pabora Ha

BJIaJIeeT: Texymuit 61-100
- HaBbIKAMU TPUMEHEHUS | KOHTPOJIb: 0aioB
3HAHWUH o OCHOBaM | TMPE3CHTALUH
COBPEMEHHOM A JTOKJIAJIbI
WH()OPMAITMOHHOH u

oubmorpaduaeckoi 3ager c
KYJIBTYPBI, OLICHKO

- HaBbIKaMH paboOTBl C

KOMITBIOTEPOM Kak

CpeICTBOM MOJTyYeHUs,

00pabOTKM W  yIpaBIeHUS

nHopMaImeit

2.2. llIkaJbl OeHMBAHUA KOMIIeTeHIMH

YpoBeHb cHOpMUPOBAHHOCTH KOMIIETEHIINH

MIxana oneHUBaHUSA

IIponBUHYTHIN YPOBEHb

Komnerenmnust chopmupoBaHa TMOIHOCTHIO, OakaiaBp
BiIajeeT  0a30BBIMM  3HAHUSMH W METOJAMHU
OCYIIECTBIICHUSI ~ MPAKTHYECKOW  JESITEIBHOCTH IO
n30paHHOMY HaIpaBIICHHIO.

81-100 «oTINMYHO»

CdopmupoBanbl 6a30BbIe CTPYKTYphI 3HAHHM, OakanaBp
BIIQJICET OOIIMMH TIOJIOKCHUSMHA TCOPUH U HMEET
MIepPBOHAYANIbHBII OMBIT PEIICHUS TPAKTUUECKUX 3a/1a4

61-80 «xopormio»

Iloporosblii ypoBeHb

CcdopmupoBaHnbl 0a30Bble CTPYKTYpPbl 3HAHUH, UMEETCA
HEKOTOpBIM ONBIT WX NPUMEHEHUs, HO JOMYCKaloTCs
OLIMOKM IPU PELICHUHU NPAKTHUECKUX 3a]a4

41-60 «yn0OBIETBOPUTEIBHON

bakamaep  umeer  cmaboe  MpeACTaBICHHE O
npodeCCHOHANIBHBIX 3aj[ayaX, JOMYyCKaeT ONIMOKH, He

0-40 «HeynOBIETBOPUTEIHHO»

MO3BOJISIIOIIAE €My TIPUCTYINHUTh K MPAKTUIECKOMH
JesTeIbHOCTH
OunennBaemble YpoBeHb c(hpopMHPOBAHHOCTH IIxana oueHUBaHUA
KOMIETeHIHH
CIIK-1 Ioporossrii 0-40 «HEyAOBIETBOPUTEILHOY;
41-60 «ymOBIETBOPUTEIIHHOY;
IIpoaBUHYTHII 61-80 «xopor1o»
81-100 «oTIHIHO»
CIIK-6 IToporossrit 0-40 «HEeyaOBIETBOPUTEIBLHOY;
41-60 «ymOBIETBOPUTEIIHHOY;
IIpoaBUHYTHII 61-80 «xopor1o»
81-100 «oTIHIHO»
CIIK-8 Ioporossrii 0-40 «HEyAOBIETBOPUTEIBLHOY;
41-60 «ymOBIECTBOPUTEIIHHOY;
IIpoaBuHyTHI 61-80 «xoporro»
81-100 «oTnuyHO»




3. TunoBbie KOHTPOJIbHBIC 3aJaHUA HJIU MHBIC MaTepHaJIbI, HGOﬁXOI[I/IMl:Ie AJIA
OLICHKH pPE€3yJabTaTOB OCBOCHHUSA NMPOIrpaMMbl JTUCIHHUILINHBI

MUWHUCTEPCTBO OBPA3SOBAHUS MOCKOBCKOW OBJIACTU
[CocynapcTBeHHOE 00pa30BaTEeIbHOE YUPEXKICHUE BhICIIEro 0Opa3oBaHust MOCKOBCKO 00nacTu

MOCKOBCKUI 'OCYJJAPCTBEHHbBIN OBJIACTHOU YHUBEPCUTET
(MI'OY)

Kadenpa anrnmiickoit ¢punonoruu

Tembl AOKRJIAA0B " npeseHTaum‘fl o AMCIOMIIJIMHE «JIeKCHUKOJIOTHS AHTJIMHCKOT0
A3BIKA»

OuenuBaemMbie KOMIIETCHIMH:
CIIK-1, CIIK-6, CIIK-8.
YpoBensb: [Toporoerit/[1poBUHYTHIIH

1. AKpOHUMBI B COBPEMEHHOM AaHTJUNCKOM S3BIKE.

2. KonBepcusi kak crnoco6 cioBoOOpa3oBaHHS B COBPEMEHHOM aHTIIMMCKOM
SI3bIKE.

3. Tlonsarue ACCUMMJISILINU 3aMMCTBOBAHUH 151 METOAMKA ee

UCCJIEI0BAHMUS.

JleprBallMOHHBIN TOTEHIIMAT 3aMMCTBOBAHHBIX CJIOB.

CemaHTHuecKasi CTPYKTypa HEOJOTU3MOB-CYIIECTBUTEIIBHBIX B OPUTAHCKOM U

aMEpUKaHCKOM BapUaHTax aHTJIMMCKOTO SI3bIKA.

6. ®pazeonoruyeckas CHHOHHUMHS B COBPEMEHHOM AHTJIMMCKOM SI3bIKE.

®pazeonoruyeckass aHTOHUMHUSI B COBPEMEHHOM AHTJIMKWCKOM SI3BIKE.

8. ABTopckue  mpeoOpa3zoBaHus  (pa3eoJIOTHUECKUX  CAMHHUI] U HUX
CTWJIMCTHYECKOE HCIIOIb30BaHNE (OKKAa3UOHAIU3MBI).

9. Umena coOCTBeHHBIE B S3bIKE peKJIaMbl (Ha MaTephalie pPYCCKOro U
AHTJIMHACKOTO S3BIKA).

10./lnanexkTu3Mpl B AHTJIMMCKOM sI3bIKE€ (HA MaTepHhalie MIOTIAHACKUX HWIIN
UPJIAHACKUX JUAJCKTU3MOB).

11. InaxpoHuveckasl MOJUCEMHUsSI HA3BAaHUM OJEKIbl B AHTIMUCKOM S3BIKE.

12 . HanuoHanbHO-KYJIbTypHAas ClieU(PUKa MPO3BUI] B AHTIUHUCKOM S3bIKE.

13. AHTOHUMUS CJOXXHBIX CJIOB B COBPEMEHHOM AHTJIMHUCKOM SI3bIKE.

14. AbdukcanbHble 3aUMCTBOBAHMSI B AHTJIMIICKOM SI3bIKE.

15.CemanTueckue OCOOCHHOCTH PYCCKUX 3aUMCTBOBAHMM B aHIJIMWCKOM
SI3bIKE.

16.ImMena coOCTBeHHBIC B aHTIUHCKOW aBTOPCKOM CKa3ke W CIOCOOBI MX
Iepenayu Ha PYCCKHUM S3BIK.

17.Heodunmansupie  uMeHa  COOCTBEHHbIE B  OpPHUTAHCKOM  BapUaHTE
AHTJIMACKOTO SI3bIKA.

18.513pIkOBass Urpa B TEKCTax IMECEHHOTO KaHpa.
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19.Crioco6bl BbIpaXeHHsI YCIOBUS B PYCCKHUX M AHIIMMCKUX MOCJIOBHIIAX.

20.CTpyKTypHO-CEMaHTUYECKHE OCOOCHHOCTHU

AHTJINHACKUX

IMTOTOBOPOK C IIPOCTPAHCTBCHHO-BPCMCHHBIMHU XAPAKTCPUCTUKAMMU.

Kpurepun ouneHuBanmusi 10KJaajaa

ITOCJIOBUIL

Iloka3zaTeab bana
Jloknax COOTBETCTBYET 3asiBJICHHOW TeMe, BBIIIOJHEH C | OTJIMYHO 8-10
NPUBJICUEHUEM JOCTAaTOYHOro KonuyectBa Hayunbix H | 81-100%
IPAKTUYECKUX HCTOYHUKOB IO TeMe, OakallaBp B COCTOSHUU
OTBETHUTH Ha BOIPOCHI 10 TEME JIOKJIA/a.
JIoknax COOTBETCTBYET 3asBJICHHOW TeMe, BBIIIOJHEH C | XOPOIIO S5-7
MPUBJICYEHUEM JOCTATOYHOTO KOJIMYeCTBa HaydHbIXx U | 61-81%
[IPAKTUYECKHX HCTOYHUKOB IO TeMe, OakajaBp B COCTOSHUU
OTBETUTh HA BONPOCH 1O TEME JOKJIaga, HO JOIMYCKaeT
HEKOTOpPbIe HETOYHOCTH B OTBETE
JIokJa B IIEJIOM COOTBETCTBYET 3asIBJICHHOW TEME, BBIMIOJIHEH | YAOBIETBOPUTEIBHO 2-4
C TPUBICYCHHEM HECKOJIbKMX HAy4yHbIX M mpaktudeckux | 41-60%
WMCTOYHHUKOB IO TeMe, OakajaBp B COCTOSHMHM OTBETHTh Ha
4acTh BOIIPOCOB I10 T€ME JOKJIAJA.
Jlokmam HE COBCEM COOTBETCTBYET 3asBICHHOM Teme, | HeyaoBieTBoputensHo | 0-1
BBIIIOJIHEH C MCIIOJB30BaHHEM TOJBbKO 1 miam 2 McTO4YHUKOB, | 0-40%
OakanaBp JOMyCKAaeT OMIMOKH MPH M3JI0KEHHH MaTepualia, He
B COCTOSIHUM OTBETHTh Ha BOIPOCHI 110 TEME JIOKJIAJa.
Kpurtepuu oneHnBaHus npe3eHTAMN
Iloka3zarTenb baJyn
[IpencraBnsemas uHpOpMAaIHs CHCTEMaTH3UPOBAHA, | OTIINYHO 8-10
nocjeoBaTelbHa U JIOTHUECKH cBsizaHa. IIpobiema packpeita | 81-100%
NoJTHOCTHIO. [1IMpOKO MCTIOIB30BaHBI BOZMOKHOCTH TEXHOJIOTHU
Power Point.
[IpencraBnsiemass nHdopmanus B LEIOM CHUCTEMAaTU3MPOBAHA, | XOPOIIO o-7
MoceoBaTeIbHa U JIOTHYECKHU CBsA3aHa (BO3MOXHBI HeOombIme | 61-81%
OTKJIOHEHHS). [Tpo6iema packphITa. Bo3moxHbI
HEe3HaYuTeNbHbIe omMOKK npu odopmieHun B Power Point (He
OoJee ABYyX).
[IpencraBnsiemas nHpopManus B 1IEIOM CUCTEMAaTU3UPOBAaHA, HO | YIOBIETBOPUTEIHHO 2-4
HEe TocliefioBaTeNlbHA W HE CBsi3aHa Jormdecku. [Ipodnema | 41-60%
packpeiTa He  MOJHOCThIO. BO3MOXHBI  OMIMOKM  TpH
oopmaenuu B Power Point.
[IpencraBnsemas wHpoOpMamsi HE CHCTEMAaTH3MpOBaHA M HE | HeynoBierBopurenbHo | 0-1
coBceM rnocinenoBaTenbHa. [Ipodiaema packpsita He nmonHocThio. | 0-40%
BreiBogsl He caemaHbpl WIM He OOOCHOBaHBL. BoO3MOXHOCTH
TexHosoruu Power Point ncrnonb30BaHbl JIMIIh YaCTHYHO.
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MUWHHUCTEPCTBO OBPA3OBAHUS MOCKOBCKOI OBJIACTU
['ocynapcTBeHHOE 00pa30BaTeIbHOE YUPEXKIEHUE BBICHIEr0 00pa3oBaHus MOCKOBCKOM 001acTi

MOCKOBCKHUI I'OCYIAPCTBEHHBIN OBJIACTHON YHUBEPCUTET
(MT'OY)

Kadenpa anrnmiickoit ¢punonorun

IIpakTHueckoe 3aganue Conversion
0 AMCHUILINHE «JIEKCHUKOJIOTUS AHIIMHCKOI0 A3BIKA»

OnenunBaemsbie komnerenmun: CIIK-1, CIIK-6, CIIK-8
Yposensn: [loporossii

Practice 1
Define the part of speech of the italicized words. State what parts of speech
they are derived from and what word-formation means is applied here.
Model: Still water of the lake mirrors the trees.
The word mirror is a verb which is derived from the noun mirror by means
of conversion.

1. That fellow really whatevers me.
She made a two-part documentary about the war in Kosovo.
Local politicians were found to pocket the money of fund-raisers.
This video is a must for everyone.
The story was in all the dailies.
Will you holiday in Switzerland?
He busied himself with plants for the future.
There is a great deal of difference between before and after.
| asked him to modem this information tomorrow.
10.1t was a good buy.
11.1 don’t like a chemistry practical.
12.His skin was weathered almost black by his long outdoor life.
13.The path is steep and dangerous in the wet.
14.1 won’t join your plan. There are too many ifs and buts in it.
15.The army’s actions dirtied his reputation.

CoNORWDN

Practice 2
In the given conversion pairs state the semantic relations between the
denominal verb and the noun it is derived from.
Model: coat—to coat “to cover something with a coat”.
The semantic relation between the words making up the conversion pair coat—
to coat is “the addition of the object”.

1. bone —to bone “to remove the bones from (meat or fish) before

cooking 1it”
2. eye—to eye “to watch carefully”
8



crowd —to crowd “to come together in large numbers”

garage — to garage “to put or keep (a motor vehicle) in a garage”

nut—to nut “to gather nuts”

fool —to fool “to act in a joking, frivolous, or teasing way”

stone — to stone “to throw stones at” & “to remove the stone from

(a fruit)”

8. leather —to leather “to cover with leather”

9. skin—to skin “to remove the skin from (a fruit or vegetable)”

10.wolf —to wolf “to devour (food) greedily”

11.land — to land “to put ashore; to come down through the air and
alight on the ground”

12.grill —to grill “to cook (something) using a grill”

13.mushroom —to mushroom “to gather mushrooms”

14.breakfast — to breakfast “to eat breakfast”

NoOgbkow

Practice 3
In the given conversion pairs state the semantic relations between the deverbal
noun and the verb it is derived from.
Model: to leak — leak “a hole in a container or covering through which
contents, especially liquid or gas, may accidentally pass”
The semantic relation between the words making up the conversion pair to
leak — leak is “the place of the action”.
1. to flirt — flirt “a person who habitually flirts”
2. to knock — knock “a sudden short sound caused by a blow,
especially on a door to attract attention or gain entry”
3. to cut—cut “damage from something sharp”
4. to watch — watch “a film or programme considered in terms of its
appeal to the public”
5. to cheat — cheat “a person who behaves dishonestly in order to gain
an advantage”
6. to stand — stand “a place where or object on which someone or
something stands, sits, or rests, in particular”
7. t0o go—go “an attempt or trial at something”
8. to like —like(s) “the thing(s) one likes or prefers”
9. to tear —tear “a hole or split in something caused by it having been
pulled apart forcefully”
10.to wait — wait “a period of waiting”
11.to forge — forge “a blacksmith’s workshop”
12.to scold —scold “a woman who nags or grumbles constantly”
13.to read —read “something of the stated kind to read”
14.to lift —lift “a rise in price or amount”



KpnTepnn OCHUBAHUS BBINOJHCHUA NMPAKTUYCCKOIO 3aJaHUA

Iloka3artesn Bbaan

3a/1aHue BBIIIOJHEHO MOJHOCTHIO, KOJIMYECTBO OIIMOOK — He Ooiee 5% 5

3ajaHue BBIMIOJIHEHO MPAKTUYECKU MOJIHOCTHIO, KOJIUYECTBO OMHMOOK — | 4
He 0osiee 10%

3amaHue BBIIOJIHEHO YaCTUYHO, KOJIUUECTBO OIHOO0K — He Oonee 30%. 3

3ajaHue BHITIOJIHEHO, HO COAEPKUT MHOXKECTBO OMIMOOK — Oosee 50%. 2
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MUHHUCTEPCTBO OEPA3OBAHUS MOCKOBCKOI OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE yUpEKIEeHUE BbICIIEro 00pazoBaHus MockoBckoi obmacTu

MOCKOBCKHUI I'OCYIAPCTBEHHBIN OBJIACTHON YHUBEPCUTET
(MT'OY)

Kadenpa anrnmiickoit ¢punonorun

IIpakTHyeckoe 3aganue Synonyms and Antonyms
o JucHuiInHe «JIeKCHKOI0rush

OnenunBaemsbie komnerenmun: CIIK-1, CIIK-6, CIIK-8
Yposens: [IpoaBuHyTHIN

1. Find the synonymic dominant in the following groups of synonyms.

To sob —to weep —to cry, to brood —to reflect —to meditate — to think, to
glare —to peep —to look — to stare — to glance, strange — quaint — odd — queer,
terror — fear — horror, angry — furious — enraged, to flash —to gleam —to sparkle —
to blaze —to shine.

2. State the difference in the pragmatic aspect of meaning of the given
synonyms.

Example: to see —to behold (the verb to behold is formal, whereas the
verb to see is neutral).

Car — automobile; refreshment — bite; soldier — warrior; to begin — to
commence; face — puss; to leave —to abandon; hearty — cordial; hand — fin; to
cry —to weep.

3. Give meanings of the following synonyms. State the difference in the
connotational aspect of their meaning.
Example: love — worship
love —an intense feeling of deep affection
worship —the feeling of profound reverence and strong adoration
(emotive charge and expressiveness (intensity) are different)

confidence — assurance

to satisfy —to delight
alone — lonely

to create —to manufacture
to blush —to redden

to tremble —to shudder

4. State the origin of the following ideographic synonyms.
1. ask, implore, beg
2. longing, desire, wish
11
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wither, decay, fade

handsome, pretty, beautiful
irritate, annoy

pierce, penetrate

alarmed, frightened, terrified
abominable, detestable, execrable
. happiness, pleasure, delight

10 astonishment, consternation, surprise
11.excuse, pardon, forgive

12.accident, disaster, misfortune
13.malicious, naughty, nasty, wicked
14.genius, capability, talent

5. Give derivational antonyms to the words.
Just, justice, use (adj), use (n), fortunate, fortune, grateful, gratitude, like

(v), like

(adj), movable, moved, related, relative, complete (v), arrange (v),

possible (adj).

6. Change the sentences so that they express the contrary meaning by
using antonyms. State whether they are absolute or derivational.

N wWDE

9.

All the seats were occupied.

He always wore striped shirts with attached collars.

The room was lighted by the strong rays of the sun.

He added three hundred to the sum.

| came in while you were asleep.

A lamp is a necessary thing in this room.

The door was closed and locked.

Light curtains hung on the dining-room windows, therefore it was
light.

In the second year of their residence the company seemed especially
to increase.

10.The little boy was outside the car.
11.Food and water were scarce during the long summer.
12.He drew two crooked lines.

KpI/ITepI/II/I OLCHMBAHHUS BBIMOJIHCHHUS MPAKTHYIECCKOI0O 3aJJaHUA

Iloka3zarTean Bbann

3amaHue BBIITOJHEHO MOJHOCTHIO, KOJIUYECTBO OLIMOOK — He Ooiee 5% 5

3amaHne BBIMIOJIHEHO IMPAKTUYCCKU IOJIHOCTBIO, KOJUYECTBO OIIMOOK — | 4
He 0onee 10%

3a/1aHKe BBHITTOJHEHO YaCTUYHO, KOJIMUECTBO OIHOOK — He 0oee 30%. 3

3ajiaHue BHITIOJIHEHO, HO COJEPYKUT MHOXKECTBO OIIMOOK — 6osiee 50%. 2
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10 Classification of homonyms. Sources of homonymy.

MUWHHUCTEPCTBO OBPA3OBAHUS MOCKOBCKOI OBJIACTU
['ocynapcTBeHHOE 00pa30BaTeIbHOE YUPEKIECHUE BBICIIEr0 00pazoBaHus MocCKOBCKO 00s1acTu

MOCKOBCKHUI I'OCYIAPCTBEHHBIN OBJIACTHON YHUBEPCUTET

(MLOY)

Kadenpa anrnmiickoit ¢punonorun

TeMbl 1151 YCTHOTO OIIPOca
M0 JUCHHUILINHE «JIEKCHKOJIOTHS AHIVIHICKOT0 A3BIKA)

OnenunBaemsbie komnerenmun: CIIK-1, CIIK-6, CIIK-8

Yposens: [Toporoseiii / [TpoaBuHyTHI#

Lexicography. The main types of dictionaries.
Archaic words and neologisms.
Aspects of lexical meaning.

The problem of synonymy. Classification of synonyms.

Syntactical classification of phraseological units.
Antonymy. Types of antonyms.
Structural classification of phraseological units.

Polysemy and homonymy. The structure of a polysemantic word.

. Semantic classification of phraseological units.

11.Phraseological units: the definition and characteristic features. Classifications of

12.Development of lexical meaning. Causes and types of semantic changes.
13.Secondary ways of word formation:

phraseological units.

shortening,

acronymy, back formation,
blending, sound interchange, sound imitation, stress interchange.
14.Metaphor and metonymy as mechanism of creating new meaning.

Kpurepun oueHnBaHus YCTHOIO ONIPOCa

IToka3arTean

Baaa

OTBEeT MOJIHBIA U COAEPKATEIbHBIA, COOTBETCTBYET TEME;
0akaiaBp yMeeT apryMEHTHPOBAaHO OTCTaMBaTh CBOIO TOUYKY
3peHus, JIEMOHCTPUPYET 3HaHHE TEPMHUHOJIOTUN
JIMCITUTIIIMHEBI

OTIIMYHO

81-100%

8-10

OTBeT copepKaTenbHbIi, COOTBETCTBYET TEME, HO COJEPIKUT
1-2 ommOku; G6akagaBp ymeeT apryMEeHTHUPOBAHO OTCTauBAaTh
CBOIO TOYKY 3PEHHUS, JEMOHCTPUPYET 3HAHUE TEPMHUHOJIOTHU
JUCIUIINHBI

XOpOIIO
61-81%

S5-7

OTBeT B LEJIOM COOTBETCTBYET TeMe  (HE OTpakKeHbl
HEKOTOpbIE AaCHeKThl); OakajJaBp yMEeT OTCTauBaTh CBOIO

YIOBJIETBOPUTEILHO
41-60%
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TOUYKY (XOTs apryMEHTaIlMsl He BCerja Ha JOKHOM YpOBHE);
JEMOHCTPUPYET YJOBJIETBOPUTEIHLHOE 3HAHUE TEPMUHOJIOT I
JUCHUTUINHBI

OTBeT HEMOJHBIM KaK MO0 00beMy, TaK U 1O COJCPIKAHUIO
(XOTS 1 COOTBETCTBYET TEME), COACPKHUT CEPhE3HbIE OIIUOKH;
apryMeHTaluss He Ha  COOTBETCTBYIOLIEM  YPOBHE,
MPUCYTCTBYIOT MPOOJIEMBI C YIOTpeOIeHHEM TEPMUHOJIOTUU
JUCIUTUTUHBI

HEYJIOBJIETBOPUTEIBHO
0-40%
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MUWHHUCTEPCTBO OBPA3OBAHUS MOCKOBCKOI OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE yUpEKIEHUE BbICIIEro 00pazoBaHus MockoBckoii obmacTu

MOCKOBCKHWI I'OCYJAPCTBEHHBIN OBJIACTHOW YVHUBEPCUTET
(MT'OY)

Kadenpa anrnmiickoit ¢punonorun

Tembl pedepaToB
M0 JUCHHUILINHE «JIEKCHKOJIOTHS AHTJIHIICKOT0 AA3BIKA)

OnenunBaemsbie komnerenmun: CIIK-1, CIIK-6, CIIK-8
Yposens: [Toporoseiii / [TpoaBuHyTHI#

1. CHHXpPOHHO-CONIOCTABUTEIBHBIA AHAJINA3 MOCJIOBUIl U IOTOBOPOK B AHTIIMKCKOM,
PYCCKOM, HEMEIIKOM M KUTalCKOM S3bIKaX B KYJIbTYPOJOTHYECKOM aCIEKTE;
2.Anrnuiickue (Qpa3eosOTU3MBI, COAEpPKAIUIME B CBOEH CEMAHTHKE HJIEMEHT
BETOOO03HAYEHHUS, U OCOOEHHOCTH MX MEPEBO/IA HA PYCCKUH S3BIK;

3. ®pa3eonoruyeckue €auHUIbl OMONEHCKOro MpPOUCXOXKAEHUS (Ha MaTepuale
AHTJIMKACKOTO M PYCCKOTO SI3BIKOB);

4. ®pazeonoruyeckue MpO3BHUINA W HMX MECTO B AaHIJIMHCKOM (hpa3eosnoruu;

5. KynbTypHOo-HanMoHanbHas crenuduka (pazeoorndyecKux eJuHMII;

6. OcCOOEHHOCTH COBPEMEHHOTO CJICHTa aHTJIMHUCKOTO SI3bIKA;

7. OCOOEHHOCTH COBPEMEHHOTO CJICHIa aMEPUKAHCKOTO SI3bIKa;

8. OCcOOEHHOCTH COBPEMEHHOTO CJICHTa KaHAJICKOTO SI3bIKa;

9. OcobGeHHOCTH COBPEMEHHOTO CJICHTa aBCTPAITHICKOTO S3bIKA;

10. Adbopu3Mbl B COBpEMEHHOM aHTJIMICKOM SI3bIKE;

11. ABTopckue mpeoOpa3zoBaHus (Hpa3eoNOrHuecKux €IUHUIl U UX CTHIMCTHYECKOE
HCTIOJb30BaHKe (OKKAa3MOHAIU3MBI);

12. MexnoMeTHas (ppa3eosiorus aHIIHICKOTO S3bIKa;

13. AHrnuiickue 3aMMCTBOBAHUS B PYCCKOM SI3BIKE;

14 .JIMHrBUCTYECKUE U3MEHEHHS] B COBPEMEHHOM aHTJIMICKOM SI3bIKE (HEOJIOTU3MBI);
15. OcHOBHBIE TPOOJIEMBI CO3aHUSI AJIEKTPOHHBIX CIIOBapei;

16. IIparmaTtrueckue acreKThl U3yYEHUS aHIVIMHUCKOW HHTEpHET-IEKCHUKU;

17. Tennennmu B 0Opa30BaHUM CICHTU3MOB W KOJUIOKBHAIM3MOB,;

18. CuHonumusa adopu3MOB U TIOCIOBUI[ B AHTIUHCKOM S3BIKE;

19. Cnenr kak OTpaxeHHE KYJIbTYPHBIX OCOOCHHOCTEH OTIEIbHOM S3BIKOBOM
IpyIIIbI;

20. CoUMOJMHTBUCTUYECKHE ACTEKTHI AJIEKTPOHHON pEUHu.

Pedepar — kparkas 3amuch HACH, COAEpXKAIIUXCS B OJHOM HJIM HECKOJBKHUX
HMCTOYHHUKAX, KOTOpasi TpeOYeT YMEHUS COMOCTAaBISATh U aHAIM3UPOBATH PA3IUYHBIC
Touku 3peHus. Pedepar mnpencrtaBiasier coOoit oaHy U3 (QOpM HHTEpIpETALNU
UCXOJHOTO TEKCTa MJIM HECKOJIbKUX HMCTOYHHKOB, MO3TOMY pedepar, B OTIUYHUE OT

KOHCIICKTAa, SBJACTCA HOBBIM, ABTOPCKHM TCKCTOM. HoBuszna B JaHHOM CJIydac
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moaApaszyMeBacT HOBOC U3JIOKCHUEC, CUCTCMATHU3AIIUIO0 MAaTCpHaJia, OCO6YIO ABTOPCKYIO
MO0 IIPpU COIIOCTABJICHHH PA3JIMYHBIX TOYCK 3PCHUA. Pe@epHpOBaHHe
Impcarojiaract HM3JI0KCHUC KaKOT0-JIN0O BOIIpOCa Ha OCHOBC KJ'IaCCI/I(bI/IKaHI/II/I,
O606HICHI/I$I, aHaJIn3a 1 CMHTC3a OAHOI'O NJIN HCCKOJIBKHUX NCTOYHHUKOB.

TpeOoBanus k HanucaHuio pedepara:

O6bem pedepata — 10 — 12 crtp. medatHoro Ttekcra. Pedepar momxen
coJiepkaTh: 000CHOBaHME BBHIOOpA TEMBI; YKa3aHUS Ha MPEIMET, 00ObEKT U3ydaeMon
TEMBbI; 1eb pa0OThl W 33/aYd; HU3JIOKEHHE MaTepuaia, pacKphIBAIOIIETO IIENb U
3a/1auu; BEIBOJBI; TUTEPATYPA.

Pedepar orneruBaercs, NCX0I U3 CICAYIONINX KPUTEPHUEB:

Pedepar oueHuBaeTcs, HCX0AA U3 CJICAYOIIMX KPUTEPHEB:

Kpurepuu

IToka3arenn

basel

1.HoBuszna
pedhepupoBaHHOTO
TEKCTAa

- aKTyaJbHOCTh
TEMBI;

- HOBHU3HA U CaMOCTOSITEIbHOCTD B
IIOCTaHOBKE po0JIeMbl, B
(bopMynupoBaHUU HOBOT'O
acreKkTa BbIOpaHHOW /s aHaJIM3a
po0JIEMBI;

- HaJM4Yue aBTOPCKOW MO3UIIMH,
CaMOCTOSTENIBHOCTD CYKJICHHM.

npoOiemMbl U

20% makcUMaJIbHO

3 oayuta
MAaKCUMAJIBHO

2. CrernieHb
PacKpBITHS
CYLTHOCTH

pOoOIEMBI

- COOTBETCTBME IUJIaHa TeMe
pedepara;

- COOTBETCTBHUE CO/IECPIKAHUS TeMe
U IUIaHy pedepara;
- TIOJIHOTA U TIIyOWHA PAaCKPBITHS
OCHOBHBIX TOHSTUH MPOOJIEMBI;
- 00OCHOBaHHOCTb CIHOCOOOB U
METOJIOB pabOThl C MaTepHalioM;
- yMEHUue paboTtath C
JUTEPATYPOl, CHCTEMaTU3UPOBATH
U CTPYKTYpPHpOBaTh MaTepHal;
- yMeHUe 000011aTh,
COIOCTABJISATh PA3IMYHBbIE TOYKU
3peHHsS 10 PAacCMATPHUBACMOMY
BOIIPOCY, apryMeHTHPOBATh
OCHOBHBIC ITOJIOKEHH U BBIBOBI.

20% MakcUMaJIbLHO

3 dama
MaKCUMAJIbHO

3. O60CHOBaHHOCTH
BBIOOpA UCTOYHUKOB

- KpyT, MOJHOTa HCHOJb30BAHUS
JUTEPATypHBIX HCTOYHHKOB TIO
npobieme;

- IpUBJIEYECHHE HOBEHIIHUX padboT
no npobireme  (KypHaJbHBIE
yOJIMKaIny, MaTepHabl
COOpPHUKOB HAy4yHBIX TPYJIOB U
T.J.).

20% MakcUMaJIbLHO

3 bama
MaKCHUMAITBHO

4. CobmroieHue
TpebOBaHUH K

oopmienue
VICTIOJIb3YEMYIO

- IpaBUIBHOE
CCBUIOK Ha

20% MakKcCUMaJIBLHO

3 Oayuna
MAKCUMAJIBHO
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0o(OpMIICHUIO

JIUTEPaTypy;
-  TPaMOTHOCTb U  KYJbTypa

W3JI0KEHUS;
- BJIAJICHUE TEPMHUHOJIOTUEH H

MTOHSTHHHBIM anrmapaToM
po0JIEMBI;

- coOmojeHne TpeOOBaHUN K
00Bemy pedepara;
- KyJIbTypa oopmIIeHHUS

BBLIEJIEHUE a03aIleB.

5. I'pamoTHOCTH

- oTcyTcTBUE Opdorpaduueckux u
CHUHTaKCHYECKNX OIIHOOK,
CTHJIUCTUYECKUX TOTPEIIHOCTEH;
- OTCYTCTBHE OIICYaTOK,
COKpaIllCHHH CIIOB, KpoMe
OOLIENPUHSATHIX;

- HAYYHBIH CTHIIb HM3JIOKCHHUSI.

20% MaxkcHUMaJILHO

3 dawta
MaKCUMAaJIbHO
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MUWHHUCTEPCTBO OBPA3OBAHUS MOCKOBCKOI OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE yUpEKIEeHUE BbICIIEro 00pazoBaHus MockoBckoi obmacTu

MOCKOBCKHUI I'OCYIAPCTBEHHBIN OBJIACTHON YHUBEPCUTET
(MT'OY)

Kadenpa anrnmiickoit ¢punonorun

Tect (Bapuanr 1)
o JUCHUILIHHE «JIEKCHKOJIOrUsl AHTJIHIICKOT0 SI3bIKA»

OnenunBaemsbie komnerenmun: CIIK-1, CIIK-6, CIIK-8
Yposensn: [loporossii

1. Immediate constituents are:

a) two meaningful components the word breaks into at each stage of morphological analysis:
b) the elements which are no longer divisible

c) the smallest linguistic units possessing meaning

d) constituents incapable of further division into any smaller elements possessing sound-form
and meaning

2. The analysis of the word “spinster” = noun, countable noun, human, adult, female, who
has never been married is:

a) contrastive

b) Immediate Constituents analysis

c) componential

d) transformational

3. The major criteria for distinguishing between phraseological units and free word-groups
are:

a) semantic

b) stylistic

c) semantic and structural

d) structural

4. Word structure consists in:

a) making new words with the help of morphemes
b) segmentation of words into morphemes

c) segmentation of words into syllables

d) making new words with the help of composition

5. By their activity in the language affixes are classified into:
a) recurrent and unique

b) prefixes and suffixes

c) productive and non-productive

d) native and borrowed

6. The name given to the use of the same word in two or more distinct meanings is:
a) antonymy
b) polysemy

18



C) synonymy
d) paronymy

7. Words denoting objects and phenomena which are things of the past and no longer exist
are called:

a) archaisms

b) historisms

c) borrowings

d) neologisms

8. The words “incredulous’ and “incredible” are:
a) homonyms
b) antonyms
C) paronyms
d) synonyms

9. The members of a thematic group which belong to the same part of speech and are so
close to one another semantically that to be able to use them correctly in speech we require
exact knowledge of the shades of meaning and stylistic connotations are:

a) synonyms

b) antonyms

¢) homonyms

d) paronyms

10. The synonyms ‘“dad — father — parent” are:
a) ideographic

b) ideographic — stylistic

c) stylistic

d) slang

11. The structure of the word “blue-eyed” is:
a) simple

b) affixed

¢) compound

d) compound-affixed

12. the structure of the word “handful” is:
a) simple

b) affixed

¢) compound

d) compound-affixed

13. The word “mike” was formed by:
a) affixation

b) composition

c) abbreviation

d) conversion

14. The word “baby-sit” was formed by:
a) affixation

b) abbreviation

C) composition
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d) back formation

15. The word “buzz” was formed by:
a) conversion

b) back formation

c) sound imitation

d) sound interchange

16. The word “middle-of-the-roader” was formed by:
a) composition

b) affixation

c) back formation

d) conversion

17. Which of the words has a derived stem:
a) darkness

b) teacher

¢) unbound

d) uncomfortable

18. Find a word with a compound stem:
a) greenhouse

b) unemployment

c) insignificant

d) mouthful

19. Which of the words is built in accordance with the formula: adj+ suff?
a) irresistible

b) invariably

c) impossible

d) good-for-nothing

20. Which of the words is built in accordance with the pattern: in- + Verb + -able + -ly:
a) impossible

b) irresistible

c) invariably

d) unbelievably

21. Find a deverbal substance denoting the result of the action:
a) to smile —a smile

b) to help — help

¢) to find—a find

d) to glance —a glance

22. Find a deverbal substance denoting an instance of the action:
a) to leak —a leak

b) to peel —a peel

c) to dress—a dress

d) to glance —a glance

23. Find a compound noun:
a) theatre-goer
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b) rain-driven
c) Afro-American
d) warm-hearted

24. Find a compound adjective:
a) sick-leave

b) backbite

c) armchair

d) sky-blue

25. Find a compound word in which the components are placed one after another
(juxtaposition):

a) Anglo-Saxon

b) horseman

C) sportsman

d) handiwork

26. Find a compound word whose components are joined together with a linking vowel:
a) photointelligence

b) telephone

C) gasometre

d) fountain-pen

27. Find a compound word whose components are joined together with a linking consonant:
a) handicraft
b) hazel-eyed
c) sunflower
d) statesman

28. Find an example of a compound-affixed adjective formed with the help of a suffix:
a) ice-cold

b) age-long

c) absent-minded

d) red-hot

29. Find an example of a compound-affixed noun:
a) masterpiece

b) short-sighted

¢) good-looking

d) shoe-maker

30. Find a coordinative compound formed by joining phonically varied rhythmic forms:
a) long-living

b) man-servant

c) willy-nilly

d) blueprint

31. Find a coordinative (additive) compound:
a) singer-songwriter

b) night-school

c) sunflower

d) looking-glass
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32. Find a coordinative (reduplicative) compound:
a) rah-rah

b) walkie-talkie

c) lady-bug

d) railroad

33. Find an example of a subordinate compound:
a) fifty-fifty

b) snowball

C) actor-manager

d) pooh-pooh

34. Find a syntactic compound word:
a) thick-haired

b) nobleman

C) green-eyed

d) wrapping-paper

35. Find a compound with a unity stress:
a) sun-flower

b) door-nail

c) ill-nature

d) snow-white

36. Find a compound with a double stress (primary and secondary):
a) dog-kennel

b) heartache

c) bluebell

d) workhouse

37. find a compound with two level stresses:
a) torch-light

b) newspaper

c) fellow-man

d) bookcase

38. find a non-motivated (idiomatic) compound:
a) sunrise

b) narrow-minded

Cc) engine-driver

d) bluestocking

39. Find a graphical abbreviation:
a) e.g.

b) fancy

C) tram

d) YMCA

40. Find an initial abbreviation which is read asa succession of the alphabetical readings of
the constituent letters:
a) BBC
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b) Mrs.
c) radar
d) RAF

41. The word “CLASS” is:
a) a graphical abbreviation
b) an acronym

c) a lexical abbreviation
d) a blend

42. Find an example of ideographic-stylistic synonyms:
a) to see —to view

b) to see —to behold

c) to see —to observe

d) to see —to watch

43. Find the dominant of the synonymic set:
a) celebrated

b) famous

c) distinguished

d) eminent

44. Find an example of absolute synonyms:
a) eye-doctor — occulist

b) large — vast

c) to get—to receive

d) word-building — word-formation

45. Find an example of homographs:

a) bow (mokson) — bow (i1yk)

b) right (mpaBeriii) — write (nucatsp)

C) ring (xoibIi0) — ring (TenedoHHBIN 3BOHOK)

d) to found (ocHoBwiBaTh) — found (past tense to find)

46. Find an example of homophones:

a) lead (cBunen) — lead (Becth)

b) can (ymeTb; ObITh B COCTOSIHHH) — Can (KOHCEPBUPOBATH )
¢) long (mmuuHEL) — long (>kaaTh)

d) meat (msico) — meet (BcTpeuats)

47. Find an example of a free word-group:
a) to read books

b) to cry for the moon

c¢) to fall in love

d) to fly into a rage

48. Narrowing of the meaning is:
a) generalization

b) specialization

¢) hyperbole

d) litotes
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49. Degradation of the meaning is:
a) elevation

b) degeneration

c) specialization

d) generalization

50. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c) lexical units and the vocabulary of alanguage

d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

TecTbl MOPOroBOro ypoBHsl OlicHUBatOTCs M3 pacuera 100 0amwioB, KaXkIblii MPaBUILHBIA OTBET
olLieHUBaeTcs B 2 Oasia.

[IIkana cOOTBETCTBUSI PEHTHHIOBBIX OILIEHOK MATHOALTHEHBIM orieHKam: 100 — 81- «otnuuno» (5);
80 — 61 - «xopomio» (4); 60 — 41 - «ynosnerBoputensHO» (3); 40 — 21 - «HEYIOBIETBOPUTEIHLHOY
(2),20 -0 - «HEOOXOMMO MTOBTOPHOE U3YUCHHUEY.

Kpurtepumn oueHku tecra (HOpoOroBblii ypoBeHb)

OreHka 1o 5-0amIbpHOH cucTeMe Onenka mo 100-0autbHONM | bame! mist arrectanun
CHCTEME
5 OTJIMYHO 81-100 17-20
4 | xopomo 61— 80 13-16
3 | yAOBJIETBOPUTEIIBHO 41 - 60 9-12
2 | HEeyIOBIETBOPUTEIHHO 21 -40 5-8
1 | Heobxogmmo MTOBTOPHOE 0-20 0-4
U3y4eHUe
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MUWHHUCTEPCTBO OBPA3OBAHUS MOCKOBCKOI OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE yUpEKIEeHUE BbICIIEro 00pazoBaHus MockoBckoi obmacTu

MOCKOBCKHUI I'OCYIAPCTBEHHBIN OBJIACTHON YHUBEPCUTET
(MT'OY)

Kadenpa anrnmiickoit ¢punonorun

Tect (Bapuanr 2)
o JUCHUILIHHE «JIEKCHKOJIOrUsl AHTJIHIICKOT0 SI3bIKA»

OnenunBaemsbie komnerenmun: CIIK-1, CIIK-6, CIIK-8
Yposensn: [loporossii

1. Immediate constituents are:

a) two meaningful components the word breaks into ateach stage of morphological analysis:
b) the elements which are no longer divisible

c) the smallest linguistic units possessing meaning

d) constituents incapable of further division into any smaller elements possessing sound-form
and meaning

2. The major criteria for distinguishing between phraseological units and free word-groups
are:

a) semantic

b) stylistic

c) semantic and structural

d) structural

3. Word structure consists in:

a) making new words with the help of morphemes
b) segmentation of words into morphemes

c) segmentation of words into syllables

d) making new words with the help of composition

4. By their activity in the language affixes are classified into:
a) recurrent and unique

b) prefixes and suffixes

c) productive and non-productive

d) native and borrowed

5. The structure of the word “blue-eyed” is:
a) simple

b) affixed

¢) compound

d) compound-affixed

6. the structure of the word “handful” is:
a) simple

b) affixed

¢) compound
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d) compound-affixed

7. The word “mike” was formed by:
a) affixation

b) composition

c) abbreviation

d) conversion

8. The word “baby-sit” was formed by:
a) affixation

b) abbreviation

C) composition

d) back formation

9. The word “buzz” was formed by:
a) conversion

b) back formation

c) sound imitation

d) sound interchange

10. The word “middle-of-the-roader” was formed by:
a) composition

b) affixation

c) back formation

d) conversion

11. Which of the words has a derived stem:
a) darkness

b) teacher

¢) unbound

d) uncomfortable

12. Find a word with a compound stem:
a) greenhouse

b) unemployment

c) insignificant

d) mouthful

13. Find a deverbal substance denoting the result of the action:
a) to smile —a smile

b) to help — help

¢) to find—a find

d) to glance —a glance

14. Find a deverbal substance denoting an instance of the action:
a) to leak —a leak

b) to peel —a peel

c) to dress—a dress

d) to glance —a glance

15. Find a compound word whose components are joined together with a linking vowel:
a) photointelligence
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b) telephone
C) gasometre
d) fountain-pen

16. Find a compound word whose components are joined together with a linking consonant:
a) handicraft
b) hazel-eyed
c) sunflower
d) statesman

17. Find an example of a compound-affixed adjective formed with the help of a suffix:
a) ice-cold

b) age-long

c) absent-minded

d) red-hot

18. Find a coordinative compound formed by joining phonically varied rhythmic forms:
a) long-living

b) man-servant

c) willy-nilly

d) blueprint

19. Find a coordinative (additive) compound:
a) singer-songwriter

b) night-school

c) sunflower

d) looking-glass

20. Find a coordinative (reduplicative) compound:
a) rah-rah

b) walkie-talkie

c) lady-bug

d) railroad

21. Find an example of a subordinate compound:
a) fifty-fifty

b) snowball

C) actor-manager

d) pooh-pooh

22. find a non-motivated (idiomatic) compound:
a) sunrise

b) narrow-minded

c) engine-driver

d) bluestocking

23. Find a graphical abbreviation:
a) e.g.

b) fancy

c) tram

d) YMCA
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24. Find an initial abbreviation which is read asa succession of the alphabetical readings of
the constituent letters:

a) BBC

b) Mrs.

c) radar

d) RAF

25. The word “CLASS” is:
a) a graphical abbreviation
b) an acronym

c) a lexical abbreviation
d) a blend

26. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c) lexical units and the vocabulary of alanguage

d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

27. Affixation is:

a) a way of word-building consisting in adding an affix to the stem of a word
b) shortening of words

c) a way of word-building consisting in forming one part of speech from another
d) a way of word-building consisting in shifting the stress

28. A non-affixal type of word-building is:
a) composition

b) conversion

c) sound imitation

d) reduplication

29. The derivational stem (base) and derivational affix into which the derived word is
segmented are:

a) immediate meaningful constituents

b) ultimate constituents

c¢) lexical morphemes

d) grammatical morphemes

30. The meaning of a compound is derived from:

a) the structural meaning of its pattern

b) the lexical meaning of its immediate constituents

¢) the lexical meanings of its immediate constituents and from the structural meaning of its
pattern

d) the lexical meaning of its ultimate constituents and from the structural meaning of its
pattern

31. Compounds may be coordinate and subordinate according to:
a) the order of their immediate constituents

b) the nature of their immediate constituents

c) the relations between their immediate constituents
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d) the nature of the ultimate constituents

32. Verbalization is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

33. Substantivation is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

34. Lexical abbreviation of words consists:
a) in adding a part of a word

b) in clipping a part of a word

c) in clipping a prefix

d) in adding a suffix

35. Find a derivational adjective-nominal compound:
a) gas-stove

b) red-nosed

c) motorway

d) brick-layer

36. Find nominal-verbal compound:
a) proof-read

b) cross-question

c) fireman

d) writing-table

37. Find a verb-adverb compound:
a) a bookshelf

b) a double-check

c) a draw-back

d) a headmaster

38. Find a nominal compound:
a) colour-blind

b) telecast

c) pale-faced

d) bottle-neck

39. Find an example of a graphical abbreviation:
a) Mr. Brown’s office

b) V-Day

c) MP’s speech

d) NATO

40. Find an abbreviation which is read as an ordinary word:
a) H-bomb
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b) UNESCO
c) USA
d) BBC

41. Find an example of apocope:
a) curtsy

b) exam

c) flu

d) bus

42. Find an example of aphaeresis:
a) tec

b) taxi

c) plane

d) S.0.S.

43. Find an example of syncope:
a) specs

b) prof

c) lab

d) cycle

44. Find the word that has been clipped both atthe beginning and at the end:
a) phone
b) photo
c) fridge
d) smog

45. Find an example of a blend:
a) fence

b) zoo

c) U-boat

d) motel

46. Find a denominal verb denoting deprivation of the object:
a) a crowd —to crowd

b) a bone —to bone

C) an ape —to ape

d) a pocket —to pocket

47. Find a denominal verb denoting an action produced with the object (instrumental
relations):

a) acrowd —to crowd

b) a pump —to pump

c) a dress—to dress

d) a ferret—to ferret

48. Find a denominal verb denoting some action characteristic of the subject:
a) a hammer —to hammer

b) a doctor —to doctor

c) abag—to bag

d) a pile—to pile
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49. Find a denominal verb denoting placing into the object (relations of place):
a) ahead —to head

b) abottle —to bottle

c) asaw —to saw

d) an elbow —to elbow

50. Find a denominal verb denoting addition of the object:
a) a monkey —to monkey

b) a queue —to queue

c) a back —to back

d) a fish—to fish

TecTbl MOPOroBOro YpoBHs olleHuBaroTcsa u3 pacyera 100 6ayioB, Kax bl NPaBUIbHBIA OTBET
olLieHUBaeTcs B 2 Oasuia.

[Ikana cOOTBETCTBUSI PEHTHHIOBBIX OLIEHOK MATHOATBHBIM oreHkam: 100 — 81- «otmuano» (5);
80 — 61 - «xopomioy» (4); 60 — 41 - «ynoBaerBoputenbHo» (3); 40 — 21 - «HEyAOBIETBOPUTEIHHOY»
(2),20 -0 - «HEOOXOMMO TOBTOPHOE U3YUCHHUEY.

Kpurtepun oueHKkHu TecTa (IOPOroBhiil ypoOBeHb)

OrieHka 1o 5-0auIbHOM cUCTEME Onenka o 100-6auipHOM | bayiel ajs aTTecTanun
cHUCTEME
5 OTJINYHO 81 -100 17-20
4 | xopomo 61— 80 13-16
3 | yAOBJIETBOPUTEIIBHO 41 - 60 9-12
2 | HEeyIOBIETBOPUTEIHHO 21 -40 5-8
1 Heo0xomnumo MOBTOPHOE 0-20 0-4
U3yYCHUE
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MUWHHUCTEPCTBO OBPA3OBAHUS MOCKOBCKOI OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE yUpEKIEeHUE BbICIIEro 00pazoBaHus MocKkoBckoii obmacTu

MOCKOBCKHUI I'OCYIAPCTBEHHBIN OBJIACTHON YHUBEPCUTET
(MT'OY)

Kadenpa anrnmiickoit ¢punonorun

Tect (Bapuanr 1)
o JUCHUILIHHE «JIEKCHKOJIOrUsl AHTJIHIICKOT0 SI3bIKA»

OnenunBaemsbie komnerenmun: CIIK-1, CIIK-6, CIIK-8
Yposens: [IpoaBuHyTHIN

1. Find an example of a non-assimilated borrowing:
a) fellow

b) café

c) forest

d) meeting

2. Find an example of a completely assimilated borrowing:
a) hotel

b) restaurant

c) husband

d) machine

3. Find a loan-word not completely assimilated with the English language phonetically:
a) police

b) river

c) flower

d) wall

4. Find a loan-word not completely assimilated with the English language grammatically:
a) figure

b) army

c) datum

d) cage

5. Find a Celtic loan-word:
a) dream

b) grass

c) cradle

d) road

6. The term “lexicology” is of:
a) Greek origin

b) Latin origin

c) French origin

d) Russian origin
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7. The two main approaches to studying language material are:
a) special and descriptive

b) historical and comparative

c¢) synchronic and diachronic

d) contrastive and general

8. Lexico-semantic system is:

a) a combination of interdependent elements

b) a type of classification of English vocabulary
c) acombination of changing elements

d) a stock of borrowings

9. The basic word-stock includes:
a) nouns

b) adjectives

c) different parts of speech

d) phraseological units

10. Archaisms are words which:

a) ousted some new words

b) are no longer used in everyday speech
c) are used to express new phenomena
d) are used with new meanings

11. A proper neologism is:

a) an old lexical unit for denoting a new object or phenomenon
b) a lexical unit existing in the language and changing its meaning
c) anew lexical unit that develops in the language

d) a new lexical unit for denoting a new object or phenomenon

12. Semantic borrowings are such units in which:

a) a new meaning for the unit existing in the language is borrowed
b) there isa word-for-word (morpheme-for-morpheme) translation

c) the spelling, pronunciation and meaning are borrowed

d) there is complete assimilation

13. A morpheme is:

a) the main unit of the lexical system

b) the smallest language unit which can stand alone as a complete utterance
¢) the smallest meaningful language unit

d) a group of words which exists in the language as aready-made unit

14. General dictionaries deal with:
a) synonyms

b) antonyms

¢) word-frequency

d) translation

15. Historic events, geographical names, names for diseases, plants, animals, institutions are
included in:

a) encyclopedic dictionaries

b) linguistic dictionaries
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c) explanatory dictionaries
d) general dictionaries

16. Dictionaries may be general and restricted by:

a) the nature of their word-list

b) the number of languages in which the information is presented
c) the language in which the information is presented

d) the amount of information presented

17. The dictionaries containing units in one language and their equivalents in another are:
a) translation dictionaries

b) explanatory dictionaries

c) etymological dictionaries

d) specialized dictionaries

18. The main types of semantic transfer are:
a) overstatement and understatement

b) metaphor and metonymy

c) irony and enantiosis

d) elevation and degradation

19. Metaphor is based on:

a) contiguity of referents

b) similarity of referents in shape, function, in position, in behaviour, etc.

c) the gradual process whena word passes from a general sphere to some special sphere of
communication

d) the gradual process when the meaning of a word becomes more general in the course of
time

20. Which of the following minor types of semantic transfer consists in naming unpleasant
or offensive referents in a polite, conventional, indirect or round-about way?

a) irony

b) enantiosis

c) euphemism

d) overstatement

21. Find the word with the grammatical meaning of singularity (noun):
a) He works well.

b) His work is done well.

c) His works are known everywhere.

d) They work at a big plant.

22. Find the word with the grammatical meaning of plurality (noun):
a) All hisanswers were correct.

b) He answers well.

c) If you are not sure, don’t answer this questions.

d) Your answer is wrong.

23. Find the word in which the emotive charge is heavier:
a) large

b) big

c) tremendous
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d) vast

24. Find the word which is colloquial in style:
a) parent

b) father

c) dad

d) ancestor

25. Find the word which is bookish in style:
a) darkness

b) harmony

c) foolish

d) glad

26. Find aslangism:
a) wife

b) sister

C) missus

d) mother

27. Find a professionalism:
a) a shop

b) a lab

c) a store

d) a barn

28. Find a vulgarism:
a) bad

b) negative

c) awful

d) bloody

29. Find the word which is motivated morphologically:
a) father

b) singer

c) aunt

d) niece

30. Find the word which is completely motivated morphologically:
a) long

b) endless

c) big

d) large

31. Find a word with an inflection:
a) worker

b) darkness

c) books

d) rewrite

32. Find a word with a derivational affix:
a) night
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b) heartless
c¢) Ivanov’s

d) papers

33. Find a word with two free morphemes:
a) unbearable

b) childhood

c) merry-go-round

d) first-nighter

34. Find a word with a bound root-morpheme:
a) suspicion

b) backward

c) brotherly

d) houses

35. Find a word formed with the help of a productive prefix:
a) amphitheatre

b) withdraw

c) unknown

d) forecast

36. Find a word formed with the help of a non-productive prefix:
a) enrich

b) interpersonal

c) disagree

d) rewrite

37. Find a word with a productive Germanic prefix:
a) foretell

b) misspell

c) abnormal

d) co-educational

38. Find a word with a productive Romanic prefix:
a) afternoon

b) unpleasant

C) pre-teach

d) underestimate

39. Find a word with a Greek prefix:
a) post-school

b) anti-racist

c) extraordinary

d) overrun

40. Which of the words is built with a prefix denoting negation:
a) undo

b) counter-strike

c) illogical

d) decentralize
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41. Which of the words has a prefix denoting repetition:
a) enlarge

b) befriend

Cc) repeat

d) retake

42. Which of the prefixes denotes time relations:
a) post-

b) un-

c) ir-

d) dis-

43. Find a noun built with the help of a lexicalized grammatical suffix:
a) emptiness

b) transition

c) acting

d) waitress

44, Which of the suffixes is used for the formation of nouns?
a) -ship

b) -ly

c) -ful

d) -ize

45. Which of the suffixes is a verb-suffix:
a) -al

b) -en

c) -ed

d) -ion

46. Which of the suffixes is an adjective-suffix:
a) -or

b) -ous

C) -ness

d) -ment

47. Find a noun built with the help of a suffix denoting a female being:
a) worker
b) scientist
¢) Chinese
d) actress

48. Find a noun built with the help of a suffix denoting diminutiveness:
a) sharpener

b) islet

c) designer

d) farmerette

49. Find a noun built with the help of a suffix denoting collectivity:
a) peasantry

b) warmth

¢) democracy
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d) loneliness

50. Find a noun built with the help of asuffix denoting the agent of a verbal action:
a) socialist

b) auntie

c) driver

d) villager

51. Find a noun built with the help of a suffix denoting the process of an action:
a) writer

b) development

c) readership

d) kingdom

52. Find a noun built with the help of a suffix denoting state:
a) materialism

b) educate

c) tiredness

d) interpretation

53. Which of the nouns is built with the help of a productive suffix:
a) victory

b) pianist

C) passage

d) boredom

54. Which of the nouns is built with the help of a non-productive suffix:
a) resistance

b) happiness

c) socialism

d) solution

55. Find an endocentric word-group:
a) white snow

b) to turn pale

c) side by side

d) day and night

56. Find an exocentric word-group:
a) heavy rain

b) to grow smaller

¢) keen sight

d) great bravery

57. Find a phraseme:
a) red tape

b) small hours

c) heavy feathers

d) to get the sack

58. Find an idiom:
a) a mare’s nest
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b) heavy rain
c) cold reason
d) to fall ill

59. Which of the dialects became the national language of Britain?
a) Lowland
b) Northern
c) Western
d) Midland

60. Which of the words is more frequently used in the USA than in Britain:
a) underground

b) subway

c) tube

d) metro

61. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c) lexical units and the vocabulary of alanguage

d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

62.The largest two-facet lexical unit observed on the syntagmatic level of analysis is:
a) the word

b) the word-combination

c) the phrasal verb

d) the phraseological unit

63. A seme is:

a) the smallest element of the grammatical meaning
b) the root of aword

c) the smallest meaningful language unit

d) the smallest element of the lexical meaning

64. Affixation is:

a) a way of word-building consisting in adding an affix to the stem of a word
b) shortening of words

c) a way of word-building consisting in forming one part of speech from another
d) a way of word-building consisting in shifting the stress

65. A non-affixal type of word-building is:
a) composition

b) conversion

¢) sound imitation

d) reduplication

66. The derivational stem (base) and derivational affix into which the derived word is
segmented are:

a) immediate meaningful constituents

b) ultimate constituents
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c) lexical morphemes
d) grammatical morphemes

67. The meaning of a compound is derived from:

a) the structural meaning of its pattern

b) the lexical meaning of its immediate constituents

c) the lexical meanings of its immediate constituents and from the structural meaning of its
pattern

d) the lexical meaning of its ultimate constituents and from the structural meaning of its
pattern

68. Compounds may be coordinate and subordinate according to:
a) the order of their immediate constituents

b) the nature of their immediate constituents

c) the relations between their immediate constituents

d) the nature of the ultimate constituents

69. Verbalization is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

70. Substantivation is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

71. Lexical abbreviation of words consists:
a) in adding a part of a word

b) in clipping a part of a word

c) in clipping a prefix

d) in adding a suffix

72. The term “polysemy” stands for:
a) the process of semantic development
b) the plurality of meanings

c) the connotation of the meaning

d) the transferred meaning of a word

73. The causes of semantic changes can be:
a) phonological

b) morphological

c) extra-linguistic

d) linguistic and extra-linguistic

74. A metaphor is a transfer of meaning on the basis of:
a) comparison

b) similarity

C) opposition

d) contiguity
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75. Find an example of a full Briticism:
a) fortnight

b) country

c) ship

d) window

76. Find an example of a full Americanism:
a) drug-store

b) friendship

c¢) childhood

d) cinema

77. Find the word the spelling of which inthe USA differs from that in Britain:
a) standard

b) labor

c) national

d) language

78. Find a Latin loan-word:
a) a cup

b) awife

c) a window

d) a glass

79. Find a Greek loan-word:
a) fruit

b) scheme

c) capital

d) table

80. Find a Scandinavian loan-word:
a) to read

b) to write

c) to speak

d) to take

81. Find a French loan-word:
a) ox

b) meat

c) pig

d) sausage

82. Find a German loan-word:
a) rain

b) prize

C) game

d) nickel

83. Find an Italian loan-word:
a) article

b) balcony

C) question
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d) fish

84. Find the word which is partially motivated morphologically:
a) cherry

b) apple

C) pear

d) cranberry

85. Find the word which is motivated phonetically:
a) hiss

b) pen

c) table

d) board

86. Find an example of a dead metaphor:
a) cold reason

b) cruel heat

c) the flower of her life

d) the hand of the watch

87. Find an example of a personal metaphor:
a) She is like a snake in the grass.

b) He bought a head of cabbage.

c) The moon is riding in the sky.

d) The moon is like a silver coin.

88. Find an example of zoosemy:

a) Don’t you be a dog in the manger.
b) She is always as busy as a bee.

c) He is as strong as an elephant.

d) “Rise like lions after slumber”.

89. Find an example of metonymy:

a) He had only a few coppers in his pocket.
b) We got to the mouth of the river.

c) Hewas a lion in the fight.

d) The valley was silent.

90. Findthe case of synecdoche:

a) Everything smiled at him.

b) All hands aboard!

c¢) the childhood of the earth.

d) The leg of the table was broken.

91. Find the example of the generalization of meaning:

a) She has always been a good wife to him.

b) Have you looked through the journals which were received yesterday?
¢) We must write to the minister about it.

d) I don’t like her. Her manners are vulgar.

92. Find the example of the degradation of meaning:
a) The office was in the busiest part of London, in the City.
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b) The hunter walked along the path, the hound running after him.
c) Our target is building civil society.
d) “Do you hear the villain?” groaned the tall young man.

93. Find a monosemantic word:
a) book

b) hydrogen

c) head

d) country

94. Find the case where diachronically we have not polysemantic words but homonyms:
a) table (cron) —table (rabmuiia)

b) pipe (Tpy0a) — pipe (kypurenbHas TpyOKa)

C) tube (tpy6a) — tube (MeTpo)

d) ear (komoc) — ear (yxo)

95. Find a word with two bound affixational morphemes:
a) ruthless

b) kind-hearted

C) uneatable

d) book-keeper

96. Find a monomorphic word:
a) mighty

b) reader

c) daughter

d) ashtray

97. Find a polymorphic (derived) word:
a) uncomfortable

b) lamp-shade

c) firewall

d) forget-me-not

98. Find a polymorphic (compound) word:
a) unquestionable

b) unpredictable

C) government

d) lady-killer

99. Which of the adjectives is built with the help of a suffix denoting the absence of the
quality?

a) girlish

b) understandable

c) careless

d) talkative

100. Find an adjective built with the help of a suffix denoting the presence of the quality
in a small degree:

a) thoughtful

b) penniless

c¢) childish
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d) reddish

TecTbl MPOABHHYTOr0 YPOBHAI oOlieHHMBarOTCA W3 pacyera 100 OamioB, KaKIblil MpaBUIIbHBIN
OTBET OlleHuBaeTcs B 1 Oas.
[IIkxama cOOTBETCTBUS PEHTHHTOBBIX OICHOK MATHOAILHBIM oreHKaM: 100 — 81- «oTmuano» (5);
80 — 61 - «xoporio» (4); 60 — 41 - «ynosnerBoputenbHO» (3); 40 — 21 - «HEYIOBICTBOPUTEILHOY
(2), 20 - 0 - «HEOOXOAMMO ITOBTOPHOE M3YUECHHUECH.

Kpurepum oueHku tecra (IpoABUHYTHIN YPOBEHb)

O1eHKa 110 5-0aJUILHOM CUCTEME

Ouenka o 100-6ajutbHOM
CHCTEME

basnel niis arrectanumn

5 OTJINYHO 81 -100 17-20

4 | xoporio 61— 80 13-16

3 | yIOBJIETBOPHUTEILHO 41 -60 9-12

2 HEYJIOBJIETBOPUTEIHLHO 21-40 5-8

1 | Heobxogmmo MTOBTOPHOE 0-20 0-4
U3yUYCHHE
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MUHUCTEPCTBO OFPA3OBAHMSI MOCKOBCKOI OBJIACTU

['ocynapcTBeHHOE 00pa30BaTeIbHOE YUPEKIECHUE BBICHIET0 00pa3oBaHus MOCKOBCKOM 001acTi

MOCKOBCKHUI I'OCYIAPCTBEHHBIN OBJIACTHON YHUBEPCUTET
(MT'OY)

Kadenpa anrnmiickoit ¢punonorun

Tect (Bapuanr 2)
o JUCHUILIHHE «JIEKCHKOJIOrUsl AHTJIHIICKOT0 SI3bIKA»

OnenunBaemsbie komnerenmun: CIIK-1, CIIK-6, CIIK-8
Yposens: [IpoaBuHyTHIN

1.Special lexicology is:

a) the lexicology of a particular language

b) the lexicology of any language

c) the study of vocabulary at a given stage of language development

d) the study of vocabulary changes and development in the course of time

2. The word has:

a) only phonological aspects

b) only syntactic aspects

c) only semantic aspects

d) phonological, semantic and syntactic aspects

3. Two or more words identical in sound-form but different in meaning, distribution and
(in many cases) origin are:

a) antonyms

b) homonyms

C) paronyms

d) archaisms

4. Homophones are:

a) identical in spelling but different in sound-form
b) identical in sound-form but different in spelling
c) identical in spelling and sound-form

d) different in spelling and sound-form

5. When two or more homonyms can originate from different meanings of the same word,
when for some reason, the semantic structure of the word breaks into several parts, this
type of formation of homonyms is called:

a) borrowing

b) word-building

c) split of polysemy

d) composition

6. Word-formation:
a) deals with segmentation of words into morphemes
b) deals with segmentation of words into phonemes
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c) is an autonomous language mechanism which isused to make new words
d) is a language mechanism which is used to create new meaning for the words already
existing in the language

7. The morphemes which may occur alone and coincide with word-forms or immutable
words are:

a) free lexical morphemes

b) bound lexical morphemes

c) bound grammatical morphemes

d) allomorphs

8. Which meaning of the word-combination is conveyed by the pattern of arrangement of
the component words:

a) structural

b) lexical

C) primary

d) secondary

9. Which of the phraseological units are completely non-motivated and usually stable:
a) phraseological unities

b) phraseological fusions

c) phraseological collocations

d) terminological phraseologisms

10. Phraseological units are classified into noun, verb, adverb and adjective equivalents by
the criterion of:

a) non-variability of context

b) partial variability of context

c) function

d) idiomaticity

11. Find an example of a phraseological fusion:
a) to show one’s teeth

b) sunny smile

c) cold winter

d) heavy father

12. Find an example of a phraseological collocation:
a) to go to the cinema

b) to declare war

c) to get the sack

d) to beat about the bush

13. Find an example of a phraseological unity:
a) to know where the shoe pinches

b) to join the army

d) to speak well

d) to know everything

14. Find an adverbial phraseological unit:
a) ill at ease
b) red tape
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c) by heart
d) to keep house

15. Find a verb phraseological unit:
a) for the sake of

b) Jack of all trades

c) golden opportunity

d) to cut short

16. Find the word which is obsolete in Britain but modern in the USA:
a) building (=house)

b) to pronounce (=to speak)

c) to ask (=to question)

d) fall (=autumn)

17. Find the American form of Participle II:
a) written

b) spoken

C) proven

d) taken

18. A variety of a language which prevails in a district, with local peculiarities of
vocabulary, pronunciation and phrase is:

a) a dialect

b) an accent

c) a regional variant of standard language

d) standard language

19. British, America, Australian and Canadian English are:
a) different languages

b) accents

c) local dialects

d) regional variants

20. The science of dictionary-compiling is:
a) lexicology

b) lexicography

¢) lexicon

d) lexical semantics

21. Find a Spanish loan-word:
a) institute

b) moment

c) cigar

d) telephone

22. Find a Russian loan-word:
a) sister

b) Kremlin

C) minute

d) sport
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23. Find an Arabian loan-word:
a) philosophy

b) chess

c) tomato

d) algebra

24. Find a Turkish loan-word:
a) café

b) physics

c) coffee

d) massage

25. Find a Chinese loan-word:
a) lemon

b) glass

c) tea

d) savage

26. Which is the most frequent meaning of the polysemantic word “hand”?
a) factory or dockyard worker

b) the pointer of a watch

c) side or direction

d) part of the human arm beyond the wrist

27. In which of the word-groups the lexical context is of primary importance to determine
the meaning of a polysemantic word:

a) heavy storm

b) to make a good teacher

c) to make everybody laugh

d) to get to the place

28. In which of the word-groups the grammatical context is of primary importance to
determine the meaning of a polysemantic word:

a) heavy artillery

b) to make somebody work

c) handsome reward

d) to take the train

29. Find an example of full lexical homonyms:
a) lead (Bectn) — lead (cBunen)

b) ball (ms4) — ball (6an)

C) rose (po3a) —rose (past tense from to rise)
d) flat (xkBapTupa) — flat (mrockwuii)

30. Find an example of partial lexical antonyms:
a) match (crimuka) — match (maru)

b) seal (tronenn) — seal (meyatn)

c) to lie (nexxatn) —to lie (;rats)

d) coarse (rpy6siit) — course (kypc)

31. Find an example of full lexico-grammatical homonyms:
a) club (n) —to club (v)
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b) pail (n) — pale — (adj)
c) since (prep) — since (conj)
d) to lie (mexxars) —to lie (sirath)

32. Find an example of partial lexico-grammatical homonyms:
a) for (prep) — for (conj)

b) sun (n) —son (n)

c) bow (nyk) — bow (mokoH)

d) seal (tronenn)— seal (3amevarath)

33. Find an example of root antonyms:
a) kind — cruel

b) important — unimportant

c) like —dislike

d) logical —illogical

34. Find an example of derivational antonyms:
a) love — hatred

b) beautiful — ugly

c) careful — careless

d) big—small

35. Find a set of words not belonging to the same thematic group:
a) tree —grow — green

b) journey — train — ticket

C) sun — shine — brightly

d) apple —read — snow

36. Which of the words is divided into Ultimate Constituents:
a) un-touchable

b) un-break-able

C) un-mistakable

d) ir-resistible

37. Which of the word is divided into Immediate Constituents:
a) in-significant

b) in-attent-ive

¢) un-doubt-ed-ly

d) pleas-ant-ly

38. Find a word with a pseudo-morpheme:
a) re-write
b) re-ceive
c) re-read
d) re-take

39. Find a word with a semi-affix:
a) well-behaved

b) long-winded

c¢) self-centred

d) undisputable
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40. In which of the suffixated words a root-morpheme has transformed into an affixational
morpheme?

a) actress

b) friendship

C) question

d) childish

41. Find a compound in which the components reflect the semantic relations of purpose:
a) neck-tie

b) wrist-watch

¢) bookshelf

d) snowball

42. Find a compound in which the components reflect the semantic relations of time:
a) motorboat

b) night-club

c) bathroom

d) man-servant

43. Find a derivational adjective-nominal compound:
a) gas-stove

b) red-nosed

C) motorway

d) brick-layer

44. Find nominal-verbal compound:
a) proof-read

b) cross-question

c) fireman

d) writing-table

45. Find a verb-adverb compound:
a) a bookshelf

b) a double-check

c) a draw-back

d) a headmaster

46. Find a nominal compound:
a) colour-blind

b) telecast

c) pale-faced

d) bottle-neck

47. Find an example of a graphical abbreviation:
a) Mr. Brown’s office

b) V-Day

c) MP’s speech

d) NATO

48. Find a lexical abbreviation which is read as an ordinary word:
a) H-bomb
b) UNESCO
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c) USA
d) BBC

49. Find an example of apocope:
a) curtsy

b) exam

c) flu

d) bus

50. Find an example of aphaeresis:
a) tec

b) taxi

c) plane

d) S.0.S.

51. Find an example of syncope:
a) specs

b) prof

c) lab

d) cycle

52. Find the word that has been clipped both atthe beginning and at the end:
a) phone
b) photo
c) fridge
d) smog

53. Find an example of a blend:
a) fence

b) zoo

c) U-boat

d) motel

54. Find an example of back-formation:
a) to read —read

b) to edit — editor

c) to instruct — instructor

d) to shake — shaker

55. Find a denominal verb denoting deprivation of the object:
a) a crowd —to crowd

b) a bone —to bone

C) an ape —to ape

d) a pocket —to pocket

56. Find a denominal verb denoting an action produced with the object (instrumental
relations):

a) acrowd —to crowd

b) a pump —to pump

c) a dress—to dress

d) a ferret—to ferret
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57. Find a denominal verb denoting some action characteristic of the subject:
a) a hammer —to hammer

b) a doctor —to doctor

c) abag—to bag

d) a pile—to pile

58. Find a denominal verb denoting placing into the object (relations of place):
a) ahead —to head

b) abottle —to bottle

c) asaw —to saw

d) an elbow —to elbow

59. Find a denominal verb denoting addition of the object:
a) a monkey —to monkey

b) a queue —to queue

c) a back —to back

d) a fish—to fish

60. Find a deverbal substance denoting the agent of the action:
a) tocut—acut

b) to tramp—a tramp

c) to smile —a smile

d) to rush —rush

61. Find an example of a non-assimilated borrowing:
a) fellow

b) café

c) forest

d) meeting

62. Find an example of a completely assimilated borrowing:
a) hotel

b) restaurant

¢) husband

d) machine

63. Find a loan-word not completely assimilated with the English language phonetically:
a) police

b) river

c) flower

d) wall

64. Find a loan-word not completely assimilated with the English language grammatically:
a) figure
b) army
C) datum
d) cage

65. Find a Celtic loan-word:
a) dream
b) grass
c) cradle
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d) road

66. The term “lexicology” is of:
a) Greek origin

b) Latin origin

c) French origin

d) Russian origin

67. The two main approaches to studying language material are:
a) special and descriptive

b) historical and comparative

c¢) synchronic and diachronic

d) contrastive and general

68. Lexico-semantic system is:

a) a combination of interdependent elements

b) a type of classification of English vocabulary
c) acombination of changing elements

d) a stock of borrowings

69. The basic word-stock includes:
a) nouns

b) adjectives

c) different parts of speech

d) phraseological units

70. Archaisms are words which:

a) ousted some new words

b) are no longer used in everyday speech
c) are used to express new phenomena
d) are used with new meanings

71. A proper neologism is:

a) an old lexical unit for denoting a new object or phenomenon
b) a lexical unit existing in the language and changing its meaning
c) anew lexical unit that develops in the language

d) a new lexical unit for denoting a new object or phenomenon

72. Semantic borrowings are such units in which:

a) a new meaning for the unit existing in the language is borrowed
b) there isa word-for-word (morpheme-for-morpheme) translation

¢) the spelling, pronunciation and meaning are borrowed

d) there is complete assimilation

73. A morpheme is:

a) the main unit of the lexical system

b) the smallest language unit which can stand alone as a complete utterance
¢) the smallest meaningful language unit

d) a group of words which exists in the language as aready-made unit

74. General dictionaries deal with:
a) synonyms
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b) antonyms
c¢) word-frequency
d) translation

75. Historic events, geographical names, names for diseases, plants, animals, institutions are
included in:

a) encyclopedic dictionaries

b) linguistic dictionaries

c) explanatory dictionaries

d) general dictionaries

76. Dictionaries may be general and restricted by:

a) the nature of their word-list

b) the number of languages in which the information is presented
c) the language in which the information is presented

d) the amount of information presented

77. The dictionaries containing units in one language and their equivalents in another are:
a) translation dictionaries

b) explanatory dictionaries

c) etymological dictionaries

d) specialized dictionaries

78. The main types of semantic transfer are:
a) overstatement and understatement

b) metaphor and metonymy

c) irony and enantiosis

d) elevation and degradation

79. Metaphor is based on:

a) contiguity of referents

b) similarity of referents in shape, function, in position, in behaviour, etc.

c) the gradual process whena word passes from a general sphere to some special sphere of
communication

d) the gradual process when the meaning of a word becomes more general in the course of
time

80. Which of the following minor types of semantic transfer consists in naming unpleasant
or offensive referents in a polite, conventional, indirect or round-about way?

a) irony

b) enantiosis

c) euphemism

d) overstatement

81. Find the word with the grammatical meaning of singularity (noun):
a) He works well.

b) His work is done well.

c) His works are known everywhere.

d) They work at a big plant.

82. Find the word with the grammatical meaning of plurality (noun):
a) All his answers were correct.
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b) He answers well.
¢) If you are not sure, don’t answer this questions.
d) Your answer is wrong.

83. Find the word in which the emotive charge is heavier:
a) large

b) big

c) tremendous

d) vast

84. Find the word which is colloquial in style:
a) parent

b) father

c) dad

d) ancestor

85. Find the word which is bookish in style:
a) darkness

b) harmony

c) foolish

d) glad

86. Find a slangism:
a) wife

b) sister

C) missus

d) mother

87. Find a professionalism:
a) a shop

b) a lab

c) a store

d) a barn

88. Find a vulgarism:
a) bad

b) negative

c¢) awful

d) bloody

89. Find the word which is motivated morphologically:
a) father

b) singer

c) aunt

d) niece

90. Find the word which is completely motivated morphologically:
a) long

b) endless

c) big

d) large
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91. Find a word with an inflection:
a) worker

b) darkness

c) books

d) rewrite

92. Find a word with a derivational affix:
a) night

b) heartless

c¢) Ivanov’s

d) papers

93. Find a word with two free morphemes:
a) unbearable

b) childhood

c) merry-go-round

d) first-nighter

94. Find a word with a bound root-morpheme:
a) suspicion

b) backward

c) brotherly

d) houses

95. Find a word formed with the help of a productive prefix:
a) amphitheatre

b) withdraw

c) unknown

d) forecast

96. Find a word formed with the help of a non-productive prefix:
a) enrich

b) interpersonal

c) disagree

d) rewrite

97. Find a word with a productive Germanic prefix:
a) foretell

b) misspell

¢) abnormal

d) co-educational

98. Find a word with a productive Romanic prefix:
a) afternoon

b) unpleasant

C) pre-teach

d) underestimate

99. Find a word with a Greek prefix:
a) post-school

b) anti-racist

c) extraordinary
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d) overrun

100. Which of the words is built with a prefix denoting negation:
a) undo

b) counter-strike
c) illogical

d) decentralize

TecTbl MPOABHHYTOr0 YPOBHA OlICHMBaIOTCA W3 pacdeta 100 OamioB, KaKIbli NMpaBUIbHBIN
OTBET OlleHUBaeTcs B 1 Oas.
[IIkama cOOTBETCTBUS PEUTHHIOBBIX OICHOK MATHOAILHBIM omeHKaM: 100 — 81- «oTmuano» (5);
80 — 61 - «xopomioy» (4); 60 — 41 - «ynoBneTBopuTenbHO» (3); 40 — 21 - «HEYIOBIETBOPUTEITHHOY»
(2),20 -0 - «HEOOXOMMO TOBTOPHOE U3YUCHHUEY.

Kpurtepun onenku Tecra (IpOABHHYTHIA YPOBEHb)

O1leHKa 110 5-0aJUILHOM CUCTEME

Ouenka o 100-6amnpHOM
CHUCTEME

basiel niis arrectanumn

5 OTJINYHO 81 -100 17-20

4 | xoporiio 61— 80 13-16

3 | yIOBJIETBOPHUTEILHO 41 -60 9-12

2 HEYJIOBJIETBOPUTEIHHO 21-40 5-8

1 | Heobxogmmo MTOBTOPHOE 0-20 0-4
U3yUYCHHE
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4. Mertoanueckne MaTepuajbl, OMNpelesilOlNe TMPOUEAYPbl OLEHUBAHHUSA
pe3yJIbTaTOB OCBOCHHMA 00Pa30BaTeIbHOI IPOrPaMMBbI

N3ydyenne AuCUMIIUHBI «JIEKCHKONOTHS aHIIMICKOTO $3bIKa» TMpPEayCMaTpUBACT
cieayronye GopMbl TEKYIIEro KOHTPOJS M MPOMEXKYTOUHOM aTTecTalluy: 3a4eT C
OLICHKOH B 4 ceMecTpe Uit OYHON M OYHO-3a04HOUN PopM 00ydeHHs .

3a4eT COCTOMT W3 JIBYX YacTeil: YCTHOM TEOPETUYECKOHN (CTyIEHT AEMOHCTPUPYET
3HaHHE TEOPETHYECKOro Marepuaja MO JUCIHHUIUIMHE) M MPaKTHYeCKOW dYacTu
(cTymeHT IeMOHCTPHpYET BIIaJIeHHE MpUEMaMU aHaju3a S3bIKOBBIX E€IMHUIY).

Pacnpenesnenue 6aJ1J10B 110 BUjaaM padoT

Joxan 1o 10 6amios
[Ipe3enTanus 10 10 Gamnos
Pedepar 10 15 Gamnos
TecTsl (MOPOTrOBBIN YPOBEHB) 10 20 0amioB
TecTsl (MPOJABUHYTHIN YPOBEHB) 10 20 Ganmios
Y CTHBII OIIPOC 1o 10 6amnos
3a4er ¢ OLICHKOM 1o 15 6annos
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MUWHHUCTEPCTBO OBPA3OBAHUS MOCKOBCKOI OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE yUpEKIEeHUE BbICIIEro 00pazoBaHus MockoBckoi obmacTu

MOCKOBCKHUI I'OCYIAPCTBEHHBIN OBJIACTHON YHUBEPCUTET
(MT'OY)

Kadenpa anrnmiickoit ¢punonorun

IlepeyeHb NPUMEPHBIX BONPOCOB K 3a4€Ty C OLEHKOH 10 JMCIUIIHHE
«JIeKCHUKOJOTHA AHTJINHCKOI0 A3LIKA»

OnenunBaemsbie komnerenmun: CIIK-1, CIIK-6, CIIK-8
Yposens: [Toporoseiii / [TpoaBuHyTHI#

1. Lexicology as a branch of linguistics. Types of lexicology. The connection of
lexicology with other branches of linguistics.

2. Language units.

3. The word and its properties.

4. Theproblemoflinguisticmeaning. Types of linguistic meaning.

5. Aspects of lexical meaning.

6. Theproblemofsynonymy. Classification of synonyms.

7. Antonymy. Types of antonyms.

8. Polysemyandhomonymy. The structure of a polysemantic word.

9. Classificationofhomonyms. Sources of homonymy.

10. Developmentoflexicalmeaning. Causes and types of semantic changes.

11. Metaphor and metonymy as mechanism of creating new meaning.

12. Secondary ways of semantic changes: elevation, degradation, hyperbole, litotes.
13. The etymological composition of the English lexicon. Native and borrowed
words in English. Characteristics of native words.

14. Borrowingsandtheirclassifications. Linguistic and extra-linguistic  causes of
borrowings. The source language and the language of origin.

15. French borrowings.

16. German and Scandinavian borrowings.

17. Latin, Italian and Spanish borrowings.

18. Etymological doublets, international words, false friends of the interpreter.

19. Morphemicstructureoftheword. Types of morphemes. Allomorphs.

20. Morphemic level of analysis of word structure. The IC and the UC analysis.
21. Primary and secondary ways of word formation.

22. Affixation.

23. Conversion.

24. Compounding.

25. Criteria of identifying a compound. Nominative binominals.

26. Secondary ways of word formation: shortening, acronymy, back formation,
blending, sound interchange, sound imitation, stress interchange.
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27. Phraseological units: the definition and characteristic features. Classifications of
phraseological units.

28. Semantic classification of phraseological units.

29. Structural classification of phraseological units.

30. Syntactical classification of phraseological units.

31. Archaic words and neologisms.

32. VariantvsDialect. MainvariantsofModernEnglish. English in different parts of the
world.

33. American English vs British English: differences in the vocabulary, grammar
and pronunciation.

34. Lexicography. The main types of dictionaries.

KpHTepHH OLCHKHA OTBETOB CTYACHTOB Ha 3a4€TE

Ouenka XapakTepucTHKA KoimmuecTBo
0aJ1J10B
OTJIMYHO OTMeTKa «OTJIMYHO» BBICTABIISETCS, €CIIH CTY/IEHT: 81- | 12-15

e oOHapyxuBaeT riaybokoe moHuManue teopernueckux | 100
BOIIPOCOB U MPAKTUYECKOTO BOIIPOCA;

e yMeeT BHUJAETh MEXIUCUMIUIMHAPHBIE CBSI3U IPEIMETOB,
IPONJEHHBIX B IIpoliecce 00yueHus B OakajlaBpuare;

e BJaJeeT OCHOBHON TEPMHUHOJIOINYECKOH 0a30ii;

® yMeEeT JIOTUYHO BBICTPOUTH CBOM OTBET;

® M3JIaracT CyTb BOIPOCOB TPaMOTHO C TOYKH 3PEHHUS
A3BIKOBOM HOPMBI U METasi3blKa HAYKU;

® yMEET BECTH IIOJEMHUKY C DK3aMEHATOpaMH, OTCTanWBas
CBOE€ MHEHHE T10 JUCKYCCUOHHOW TEME.

XO0po1Io OneHka «X0pomo» CTaBUTCS, €CIIN CTYJEHT: 61-80 | 8-11

e OOHapyXWBaeT JOCTaTOYHO  TIyOOKOE  TOHHMaHHE
TEOPETUYECKUX BOMPOCOB M MPAKTHUYECKOTO BOMpPOCa, HO
3aTpyAHSAETCS B IPUBEIEHUH IPUMEPOB;

® yMEeT BHJETh MEXIWUCIUIUTMHAPHBIC CBSI3U IIPEIMETOB,
NPOIIEHHBIX B TIpoIiecce 00y4eHus B OakanaBpuare;

e B IEJIOM BIaJ€eT TEPMHHOJIOTHYECKOH 0azoil, HO
JIOITYCKAEeT OTAETIbHbIE HETOYHOCTH;

® HEJIOCTaTOYHO YE€TKO CTPYKTYPHUPYET OTBET;

® U3JaraeT CyTh BOIIPOCOB JIOCTaTOYHO I'PaMOTHO C TOYKH
3peHHs SI3BIKOBOM HOPMBI U MeTasi3bIka HayKu (He Oosee 2-
3 ommboK);

® B IEJIOM NPAaBMWJIBHO OTBEYAET Ha BONPOCHI, HO HE OYEHb
YCIIEIIHO BEZET MOJIEMUKY C HK3aMEHATOpaMH, OTCTauBas
CBOE MHEHHE TI0 INCKYCCHOHHOM TeMe.

yaoBJjieTBO | OIEHKa «y10BJIETBOPUTEIBHO» CTABUTCS, €CIIU CTYJICHT: 41-60 | 4-7

pUTEJIbHO ® T[IOKa3blBACT NOHMMAHUE TEOPETHUUECKUX BONPOCOB H
MPaKTUYECKOro0 BOIPOCA, HO PACKPBIBAET Marepuai
HEIOJIHO, 3aTPYAHSIETCS MPUBOIUTH IPUMEPHL;

® HE BCErJia BUJIUT MEXIUCIUIUIMHAPHBIE CBS3HU MPEIMETOB,
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MIPOMICHHBIX B Mpoliecce 00ydeHus B OakagaBpuare;

® JIOITyCKAaeT HETOUYHOCTH B ONPEACICHUN MOHATHIH;

® y3JaraeT MaTepuall HEUETKO M HEMOCJeI0BATEIbHO;

® JIONyCKAaeT OMIMOKM C TOYKH 3PEHHS S3BIKOBOH HOPMBI U
MeTas3blka Hayku (Oomee 4-5 ommOOK B TOM HHCIE
BEAYIINX K HCKXCHUIO CMBICIIA BHICKA3bIBAHUS);

® UCHBITHIBACT CEpbe3HBIC 3aTPyJHEHHS INpU OTBETE Ha
BOIIPOCHI 9K3aMEHATOPA.

Hey/J10BJIeT
BOPHUTEJIbH
0

OlLieHKa «Hey10BJIEeTBOPUTEIbHO0)» CTABUTCS, €CJIU CTY/ICHT:

e JIEMOHCTPHUPYET pa3pO3HEHHbIEC OECCUCTEMHbBIC 3HAHUS;

® JIOIYCKaeT IpyObIie OMMUOKH B ONIPEICIICHUN TTOHATU;

e M3JIaraeT MaTepual HEYBEPEHHO U HEUETKO;

® JIOMyCKaeT rpyOble W/WJIM MHOTOYHUCIICHHBIC OIMUOKH B
YCTHOM  peud, Beayume K HCKOKEHUIO CMBICIa
BBICKA3bIBAHUS;

® HE MOXET OTBETHTHh MPAKTUYECKH HU HA OJUH BOIMPOC
9K3aMEHaTopa.

0-40
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